it
R LY

sk
N

LVA %35

BB S R T7iE (RK)

pes [ =S
S8 LG 2
=T R= >
3 CEEPl LVA 2 0 —-|01) [—|All |-IV]—Z %5 | sans
T. - Tice Rc
[Ehian N NPT
N.O. / 3% FRt [0 [ ne | B G
3. CCCPl LVA 2 (1—101) Al |-IV] lisan
Py N 14X
EE12|ScIass—l— llﬁﬁéit BEOE1s
L5 | Efkclass 1Az 1 | N.O
I
2 2 o4 WIER AR
rry Tics x
class: 3 0 O Vv HESHAE
1.3.4.5.6 LVA 2 A V ) MERIZSXE A, B. C.F. N, LVA1[]
I l RS HUAS R IR
F{kclass ) - A
05 | Tfhclass | AOE R T E= ) X TFURRAS, BBETE
1 1 22 0 | NC 1 7 B ?%;ZSJ;TE% Ak E T iE
3 3 28 1 | N.O. 2 EE
4 4 212 2 | WiEA 3 HREAE. B
5 5 220 ) 2 TFRBRMNES, & 4 W ERAT
6 6 922 BRTERORINT R Iﬁﬁ
Ao gorges = AT IR
we | 2tk 28 | gy | BOTHE &5
4R itk 1]2[3]4
BEEORe o PPS
i85 | B0 | Efkclass LS g E A |SUS — PTFE (@ |~ |- |@ B
01 1/8 1 22 | Thdass B0 | £88®A B | PPS PPS PTFE @ |- |- |@® BLVAG0Z 5
02 1/4 Bofx | Bahk C | PFA PPS PTFE |@ | @ | ® | ® -
01 1/8 JE— 1.2 M5 PPS N
02 1/a 2 TiLs 3456 Rc T Rcis | D | Sus — NBR @|—|—|@ BLVABOZ 5h
02 1/4 1.2 M5 PPS .
03 8 3 N 52561 YT ners | E |Sus — EPR @ —|—|@ BRLVABOZ 51
03 3/8 . F 1.2 G M5 F [PFA| PvDF [PTFE |- [—|-[-| XEE&MXLVA40, 50&
04 1/2 3.4.56 G1/8 G | PPS| PPS NBR |@ o BRLVAGO = 5h
04 1/2 5 H | PPS PPS EPR @ |- |@® FRLVA60 5
06 3/4 N |[PFA| PPS | PTFE @ | @@ @ Xt R LK
10 1 6
25y Bm
RS LVA10 LVA20 LVA30 LVA40 LVA50 LVA60
31&D1§ 02 04 28 212 220 222
ES éTJE A8 [ 14 | 18 14 [ 1/4 ]38 |38 12] 1234 1
HEE @w OlolOoO]J]O[O]J]O[O]JO]OT[O O
el O O] -JO[-JTOo[-TO0[-T1T0 -
Bk ] A o[- -Jol-Jo[-]lol-To0 O
23 a8 pa NGO JO|O|O|O|lO|O|O]O]|O o
%iBA£¥ NnOf - | - JOolo]lololo]lo]oO]|oO o}
4pB
NC. NO. m#ER |mfe|l O | O | oo oo oOo]oO]O]|oO )
sz PA PA
TR g ne.l - | -|o]lolololo|lo]lo]|o o)
2 &
“pg sB| - | - | Oo|]Oo|]Oo|O|]O|O]|O]|O 0
N.C. WAEF
wE 2B Ane| - |- |- -]-]ol-]o]-]|o -
5 &
“pB RIEM| — - - - -1oO0| -10]-160 -
N.C. XM
HRERR sPA 4PA
NC. | — - - - - 1O -10]-160 -
=5 BA%&
“pg se@| - | - | - | - | -]o| -]0o]| - |0 -
N.C. XM
HERLT yPA
{i ne.| - | - |olololo|lo|lo|lo|o o)
) THMENTERNASESR
M. N.C.
ZSVC 0

3K —fABILVC

<C
>
=
=
<
b
i
&
B

FapLVH

xR AHUAFILVH

CAT.CS70-16D 2018-3



LVA %73

BEAR

SN :1/8

LVA-Z

19

FRAE RS
s LVA10 | LVA20 | LVA30 | LVA40 | LVA50 | LVA60
LO& 22 o4 28 212 220 022
BEOR 1/8.1/4 | 1/8.1/4 | 1/4.3/8 | 3/8.1/2 | 1/2.3/4 1
Kv 0.06 0.3 1.4 2.8 5.1 6.8
Cv 0.07 0.35 1.7 3.3 6 8
it £ 41 (MPa) 1
EREN A-B 0~0.5 (—94kPa)0~0.5%3] (—94kPa)0~0.4%3
(MPa) B-A 0~0.05 (—94kPa)0~0.2/%3) {—94kPa)0~0.1%3)
N.CN.OE |05 T 0.3 02T
EE(MPa)
WEA | 0.3 0.4 0.3IUTF
iRttt = (cm®/min) 0(KE)
BRAEET (MPa) 0.3~0.5
EREOORF M5 Rc1/8. NPT1/8. G1/8
{ERRMEEE(C) 0~1007%1")
IEIRE(C) 0~60
SuS 0.12 0.18 0.44 0.86 1.67 1.96
RE (kg) PPS 0.05 0.08 0.18 0.32 0.73 -
PFA 0.05 0.09 0.20 0.35 0.78 0.90
3¥1) 2R ANBR - EPRAT50~60°C
2) LVA10_ EFEN.O.B,
F3) MNE SRRV ASRETIEDER.
AFREMERER
™= - - G EEE-E S S S E S S S S S S S SEEE-EE-E-E--_--_—--_—--_—-——-—
| ERRIRE, REFESTIES LK. |
I hFRARREREIESIPS1.52, I
oo oo oo e oam e Ee e e EE e EE e B e B B B B B B S B B Ee Ew Ew Ew Ew mm mw o= o
| (S
ANEE
(DRIBEE R (ERIEL B, BRREREEEL,
BN, RSB EBRIL,
A 215
WERERE
BISESER TRAZERE.
AEFR
AR,
PEEE
TEEREFRAME.

11y
LU \‘ul nu‘l:::

O
2

CAT.CS70-16D 2018-3



g

SiEn
wurns LVA %3

PR
N.C.E

N.O.2Y

HETAT

PA
B Bl A B
\ \ \
HRREE S
F5 TEBERTR MR T BT
1 IREhER PPS PVDF
SuUs
2 | Efk PPS _
PFA
PTFE
3 | BR NBR -
EPR
4 | R ({(XPFAZE{K) PPS PVDF
5 | RmEFAEL PPS -
6 BIRAT PP -
ZSNC

WAER B

WHEE (MR PFA)

AR

|

B Sk—RBLVC

|

<
>
=
=
<
i
i
:E§
B

FapLVH

xR AHUAFILVH

20

CAT.CS70-16D 2018-3



LVA %73

M R~TE
FEHR - SUS
LVA20 _
g‘z] <
T Q
g
EESEFEO R
&\ {
1 o ] \
| 2{ - l |%°| o
ASEA e BZAIE
| B
& | ©
2xF K
LVA1[] | |
LVA21. 22 Y
LVA3[~60] 9 @
o | ©
2xQ
—_— ) '|—' %T :—\‘_7“
EREEFEO R
=18
& i
‘ KN ‘ z -» B<:I:|A 4» KN ‘ ©
D T o
B
2xP
. _ _
—— %
J (&)
A 1T © Eomal
@: == ik
LVA10 oxF K B B
LVA21, 22 LVAGO
21

O
2

CAT.CS70-16D 2018-3



sgEst
waroam LVA 251

MR~
FE#MER : SUS -
Hin e A R o
>
LVA20 LVA20 EIH
. &
@ ]
3 K
= G
<
mil Ik -
I =
<
:I'Z:
4B <I A+ - {B<,‘::|A]~ T &
jlé);—(‘
LVA22 LVA30~60
LVA33~63 7
7
3
= s
I ' | —
Rt&  (mm) Rt mm | L
7S S = RE w §$
LVA200 | 145 : LVA20 | 637 .%
LVA3C] | 24.4 LVA30 | 89.1 e
L. L _LvAdO | 29 ! LVA40 | 109.9
EE— LVASC] | 345 1 '—[B <::'A]—' I LVA50 | 1405
LVA6LI | 36 LVAG6O | 1478
_LVAed | —_—
T
s
o
©
e
=
&
1=
RTJ'%:Z (mm) ",3{
e AlB|[C]|E F G|H|K|]L|[N]JO P Q R T
LVA1[] 20 33 49.5| 10 M5 x 0.8 x4 275 | 11 — 13 27.5 - M5 % 0.8 04.2 -

Rc1/8.1/4 Rc1/8
LVA20 30 33 54.2| 10 M5x0.8x5 | 31.5 - 22 22 26.5 | 14.8 | NPT1/8.1/4 | NPT1/8 2.4 20

G1/8.1/4 G1/8

LVA2; 30 33 57 10 M5x0.8x5 | 31 13 22 22 26 - M5x0.8 | M3x0.5 -
Rc1/4.3/8

LVA3[] 36 47 78.6| 13 M6x1.0x8 | 425 | 175 | 37 26 385 | — NPT1/4.3/8 -
G1/4.3/8
Rc3/8.1/2

LVA4[] 46 60 95.4| 16 | M8x1.25x10 | 54.5 | 18 475 | 335 | 475 | — NPT3/8.1/2 -

Rc1/8 Rc1/8
G88.12 | \pri/g | NPT1/8 |——
Re12.a4 | oo | NETY
LVAS(] | 58 | 75 |1225| 19 | M8x125x10 | 615 | 275 | 60 |43 |555| — | NPT1/2.3/4 -
G1/2.3/4

Rc1
LVA6[] 58 85 |129.8| 24 | M8x1.25x10 | 68.8 | 27.5 | 60 43 62.8 | — NPT1 -

G1

22
& SNC
CAT.CS70-16D 2018-3




LVA %73

MR~
FE#R - PPS
LVA20
. {f}\
B | &
| [ - Z} <| QO
D | O
|
4xoM K
U
T aQ
EREFED R 4
@A/ i 2xP _
1 o -
o %=
A = ) °
— &% —— — &% Pt
LVA1[]
LVA21, 22
LVA3[]~6[] = 1 a |
A N
- } < 0 7_@_- 7
'/ 2x02
4xoM /R4
K YI\
-
K
LVA1O
= e — >
| | | wmewmo R |
=res:
/ & :
e ° &
1 CN = =l Al 1 ) ©
| i — b o | w
— ) | | [_ 1o
2xP B
23 % SNC

CAT.CS70-16D 2018-3



Eggl:f'r)\i LVA ?&5‘]

SMER~TE
PR
FE#R - PPS
e E AT O
—
LVA20 LVA20 =
R
|
/,/
'l-ﬂt(
7]
3
= <
i ] 0 j = >
r
=
il | x
o Iib
it
& 1] 1o ] =
! ! B
LVA22 LVA30~50
LVA33~59
7]
3
| | | —
= <
Rt& (mm) RI®& (mm) 1—,'
me ) ' e w .%
LVA20] | 145 LVA20 | 642 | -
i@t LVA3O | 24.4 - Ny LVA30 | 881
[sthel LVA4 | 29 LVA40 | 110.4
| LVASO] | 345 | | LVAS0 | 147
I
S
)
e
K
=
s
1
R#% (mm) -Ir>7<'
mz | A|B|] C | D|E|]G|H|]J|K|]L|M|N|]O|] P | @ ] R |T|U
Rc1/8.1/4
LVA1] 20 33 49.5 — 10 27.5 | 11 - 4 11 - 275 - NPT1/8.1/4 | M5x0.8 04.2 - -
G1/8.1/4
Rc1/8
LVA20 30 36 54.7 44 1 32 = 4 20 37 85 27 14.8 NPT1/8 02.4 20 30
Rc1/4 G1/8
NPT1/4
] G1/4
LVA22 30 36 57.5 44 11 315 | 13 4 20 37 3.5 26.5 - M5x0.8 | M3x0.5 — -
Rc3/8
LVA3[] 36 47 77.6 56 15 415 | 175 7.5 34 46 5.5 37.5 = NPT3/8 — —
G3/8
Rc1/2 Rc1/8 Rc1/8
LVA4[] 46 60 95.9 68 22 55 18 8 42 57 5.5 48 - NPT1/2 NPT1/8 | NPT1/8 - -
G1/2 G1/8 G1/8
Rc3/4
LVA5[] 58 75 129 84 26 68 275 | 8 56 71 6.5 62 = NPT3/4 = =
G3/4
Y 24
& S\VC

CAT.CS70-16D 2018-3



LVA %73

M R~TE
FE# R . PFA
LVA1[]
e t {%}\
o=
- = < 0
o la=
O
K 4xoM
S 2xR
1 T 1 T‘H /_(
= &
EREETR O /\ T
o |
%?;;§h b4 {E] [All b?;§§* O
| 7\&% | I N2 lﬂ
2xP / B
Q
LVA20
&
iR
- L - - <
& | 6D
4xgM
— K
B
:
R
EResEn U 4
2xP
% e,
(7]
/ (3) 0
AV . 1 e )
& I I -
( 1 | (
T
Q
I (mm)
B A B © D E G H J K L M N P Q R S T U
LVA1[] 20 20 44.8 39 95| 232 | 114 4.5 11 30 5 21 NR;'II‘{?S 38 M5 x 0.8 22.3 — —
G1/8
Rc1/4 Rc1/8
LVA20 30 30 58.2 44 145 | 35.5 = 4 20 37 35 30.5 NPT1/4 36 NPT1/8 14.8 20 02.4
G1/4 G1/8
25 ZS\C

CAT.CS70-16D 2018-3



st
wurns LVA %3

"/,
MR~
FEMR - PFA N
LVA21, 22 O
LVA3[]~6[L] t t >
: Cr &
I : N §
K
- = } < 0 o
<
4xgM K =
§1
2xR il
= = — e 1 &
| | | gmaswmn U | ? B
5
wl- L1
A
1 =
{\ ) €}
J Bl
D - e | @ @ o
N | o S )
[ / | [ B
2xP B
Q
T
S
|
=
=
lin
INE (mm)
g | A|B|Cc|D|E|]G|H|]J|]K|L|M|N|] P |aQ@|] R | u
Rci/4 —
LVA2) | 30 | 36 | 61 | 44 |145[35 |13 | 4 20 |37 | 35 |30 NPT1/4 — | M5x0.8 | M3x0.5
G1/4 T
>
Rc3/8 =
LVA3C] | 36 | 47 | 816| 56 |19 |455|175| 75 | 34 | 46 | 55 | 41.5| NPT3/8 - o
G3/8 e
=
Rc1/2 I
LVA4Cl | 46 | 60 | 959| 68 |22 |55 |18 | 8 42 | 57 | 55 | 48 NPT1/2 - 13
G1/2 Rc1/8 | Rc1/8 =
NPT1/8 | NPT1/8 =<
Rcd/4 G1/8 G1/8
LVASC] | 58 | 75 |129 | 84 |26 |68 |275]| 8 56 | 71 | 65 |62 NPT3/4 =
G3/4
Rc1
LVA6[] 58 75 137.8| 84 32 768 | 275 | 8 56 70.8 6.5 71 NPT1 117
G1
26
ZSNC

CAT.CS70-16D 2018-3



LVA %73

M R~TE
E&EH#MR . PFA
T = A B @ HERAT
LVA20 g LVA20
il IE
o e
! !
LVA22 @ LVA30~60
LVA33~62 8
T i T Rit%  om Ri%  om
me | s i Bg w
LVA20 | 145 . LVA20 | 677
LVA3O | 244 LVA30 | 921
LVA4O |29 : LVA40 | 1104
7 E&E-E_i LVA5] | 345 ELI LVA50 | 147
| LVA6 | 36 | LVAG60 | 155.8
o5 B
LVA39~53
- _ — - | _
)
o {} R~T% (mm)
- ] 1 [B) A 7 [ S C E G N T Q
z \WP)j o @) © LVA3C] | 831|205 47 | 43 | 505| 67
0 1 s il i IINI LVA4[] | 959|22 | 55 | 48 |545| 86
e T) LVA5(] 129 |26 | 68 | 62 |60 | 104
T V. a
LVA33~59 £
= =
] QQ R~%& (mm)
] _@_ H A ws [ s [T
B B W LVA3[ | 24.4 | 50.5
| | I I LVA4OD |29 | 545
(max.T) LVA5[] | 34.5 | 60
27 ZSVC

CAT.CS70-16D 2018-3



LVA %3

5N

SR
piE=) LLA2A LLA3A LLA4A LLA5A
£ERAEKX [EES5N
P(IN). A(OUT) AR £FIN, BEMOUT
fR 8 2~5fL
i EEOZPED) 1/4 3/8 1/2 3/4
y EEOZAED) 1/4 3/8 1/2 3/4
\ E) FRESRA-PRER, BEEEEAAT.
\i . — :
ERARRBE SRR E
F{&kclass e——
LS | Ff&kclass BB LR R ‘
2 2 ~= 13‘% ;%i
3 3 LS | B o) PFA
4 " TS Rc
- s N NPT
JEWRFE o o EEOR(PED)
LA | f=E | LS | EEORE F{&class
SRR 6 02 1/4 2
— 03 3/8 3
02 2?1 04 12 4
05 5h 06 3/4 5
WA SRR FE
F{fclass lﬁ]'iilﬁ
i£S | Ffkclass Loz Kics x
2 2 04 B 1 BamAE
3 3 28 0 N.C. 4 it B AT
4 4 212 1 | NoO. ) THERTHIAS.
5 5 020 2 | WA
S o MR
s e e e EATER N
A ] RERAREER ] TS EE e | B [ 4 B
C |PFA| PPS |PTFE | @ | @ -
, . N SRR
BEDEAED) . F | PFA | PVDF | PTFE (RLVA4O. 50%)
ig:f B*r%/f?é Eﬁi;'ass PFA| PPS |[PTFE (@ | @ xR EIK
03 3/8 3 )
04 172 4 L EEES
06 3/4 5 s e CiES
FicsS Rc
N NPT
ZSNC

CAT.CS70-16D 2018-3

Bk —RILVC

<
>
=
=
<
b
i
:’}3§
B

FapLVH

xR AHUAFILVH




LVA %73

| EERAMNRT A EGTHH) |

BHEREARRES LREMRMNES,

,

ﬂo

A(OUT)E A N IE@ERS,

EXARIY RMm

S
£

Rong
L o HDR
Fi E TN ve= DAY

LVA20A | LVA30A | LVA40A | LVAS0A
PFA

14 | 38 | 12 | 34

o4 08 012 020

O O O O

B E L,
N ZE M8 h 14 o o o o
/ A(OUT)ﬁ;u
O O O O
(FRRB)
LLA2A-03-02-C-+-+- 1set EEHRAFRES s 2 iE R
# LVA20A-02-C1 ++-+- 2set [REIS (51 ~24L)
# LVA20A-02-C +=++eteee 1set MREIS (EE3ML) O O O O
Tz ARBNRENESHEM * S,
AOUT)E O7ERTE S . MEN o | O |0 o
B EAIRFIC,
M R~
LLACJA-[&%&]-[][]-C
R2 sWEREN R~13~5 SWaEERA
(ot gﬁ SRR CERE CARCIC
S ST p|<
TR R m_am_am_ 6
X L1
L2 @ L2
L3 % L3
£ 2xR

feRaEO U

2xR

R a U

1 1 jg D =
[ [AY = otftolllef OIS
el B [Tefore L
‘ \ [ wl® z >f {% Q T "‘I
\PUN)EO2xQ | [EEB 195-B
A(OUT)i# nxQ P(IN)E02xQ \__A(OUT)&EANnxQ
R~t%& (mm) (mm) ‘g-
S S . % E
LLA2A | 145 NN i
LLA3A | 244 L1 | 62| 93124155
LLA4A | 29 LLA2A | L2 | 75| 106]137] 168 ‘H?‘HH?HH Hﬂ
LLA5SA 34.5 L3 118| 149(180| 211
L1 74| 111|148 | 185
LLA3A | L2 | 90] 127]164 201
L3 | 118| 155|192 | 229
L1 94| 141|188 | 235
LLA4A L2 | 112] 159|206 | 253
L3 | 144| 191|238 | 285
L1 | 118 177]236 | 295
LLA5A L2 | 140| 199|258 | 317
L3 | 178| 237|296 | 355
R"—J'%Z (mm)
me [A[B] ¢ E|G|HI[K|[N]P Q R ] v wly
LLA2A | 50 | 31 67.5 | 205 | 415 | 13 18 | 34 36.5 | Rc1/4 NPT1/4 | M5x0.8 | M3x0.5 | 19 M4 55
LLA3A |47 |37 | 891 | 255 |53 | 175 |39 | 425 | 49 | Rc3/8.NPT3/8 235 | M5 | 65
LLA4A | 60 | 47 | 1034 | 29 625 | 18 50 | 48 55.5 | Rc1/2 NPT1/2 NF:DC_;{?S NFIS:'F1/?8 26 M6 7.5
LLASA | 75|59 | 1355 | 325 | 745 | 275 | 61 | 61 68.5 | Rc3/4.NPT3/4 29 M6 7.5

29

ZSNC

CAT.CS70-16D 2018-3




LVA %3

3iE

FRAERIAE
e LVA200
Lo&= o4
BEOR 1/4
Kv 0.2
Cv 0.3
it £ 71 (MPa) 1
EREAN 0~0.5
g it i 2 (cm3/min) 0(KE)
BIEES (MPa) 0.4~0.5
fS@OOR M5x038
ERRMERE(C) 0~100
IMEIRE(C) 0~60
& (kg) 0.162
WE S RRAE
‘PA
v R
— EE{ZIS;L:Iass LS | EE | WS BhH
LS class mEES N
A E ég 5 " BBk C | PFA PPS PTFE
iBS | BumE
Kii s Rc
N.C. N NPT
MR o
[0 [ NC. |  EEOE
B2 | BEOR
02 1/4
i
e
i ‘ i
1 [
\
|
3 1l
2 =) S —
7 ‘ BT
Rir— T+ F e SHAETR MR
-~ 1| IBEER PPS
C%\\\\ | 2 | EtF PFA
[ 3 BAR PTFE
4 | iR SuUS
ZS\VC 30

CAT.CS70-16D 2018-3

B Sk—RBLVC

<
>
=
=
<
b
i
B

FapLVH

xR AHUAFILVH




LVA %73

Y/, z
SMER~TE
R P
o - -
@ —
ey
g
{
A
3xRc1/4
M5x0.8 (3xNPT1/4)
£S®BO
M3x0.5
[Fe]) =
® FEIR O
]
]
B @©
S

©
e

22.2

6.5
o
o
(¥

2xM5x0.8
K6

20

31

O
2

CAT.CS70-16D 2018-3



LV =31

KFELFNER

TEEFRTHAE
B FHRBEHMBEANE, ERBEECclass(FERRTAEEEFRT.
FEHK
EFINMZ ARE
ciuffs RBIRT FHIRT B | HAE |ER BAEAR)
3| 4|6 |8 |10]|12|19 |25 [1/8|3/16| 1/4 |3/8 | 1/2 | 3/4 | 1 OFEART Cl " 7
2 @ ®| O] - |-|-|-"|-"1@®@ @O ||| —-| @Rz 5| & El
3 - - | @ Ol -|-1-1-|-1®@|O| |-~ _r
e e e AR
5—————00—————00—m“mE
6 _ _ _ _ _ _ . O _ _ _ _ _ . O @ %L*ﬁlﬁ{im%mla
%?E?L&%ﬂﬁﬁlﬁ % ﬂE—’Fﬂﬂ((%LWH
N £31LQ1.2 &7 ENM-05-1), (@i AAE
) ¥ i@ kclass 2 SMNMEZ A4 EFEE AIMEH1/8"HE T, 5 ’
BT E FIMR1/8"HImAESER (LQ-2U03), TEETFR, (BEZRELT

R SRIRTTE)
) BT RIMHEE.

BAE

B
< LQ-2N07

LQ-2B03

£

*i%%

E.?ﬁ’l‘111/4"
EERY) Ry
LQ-2U03
2 R B
BELTHHRERTHE s
l lazre
iES BFRT Fihclass (#LRF) EEEL
Bk 03 | 1/8"x0.086". 3x2
iLs | BAEL 04 4x3
Fiee| LQ2 05 3/16" % 1/8" 2
1 LQ1 06 64
07 1/4" % 5/32"
06 6x4
Fkclass (3K R~F) o—rH 08 8x6
LS | Fficlass(3ELRT) EHEkL 10 10%8 3
2 2 07 1/4"  5/32" tg;
3 3 LQ1 11 3/8" x 1/4"
4 4 LQ2 10 10 %8
5 5 12 12x10
6 6 LQ1 11 3/8" x 1/4" 4
13 1/2" % 3/8"
FERERIFRSE o 12 12x10
LS TEBHEAIFNE 13 1/2" % 3/8" 5
u TN 19 | 3/4"x5/8". 19x16
B : BANE = 19 3/4"x5/8". 19x16 E) BEEFRTERPS2,
N 28 25 1"x7/8", 25x22 6 a1
49 ZS\MC

CAT.CS70-16D 2018-3



LV 75|
EEiRE

R ASERIFHRERMRSRIFNES HRER

FEMR R+ R
R B THEE | ERE | Loe. | mEE | TR | S
SUS316 PFA PPS PTFE NBR EPR
LD acetone O O1) Oix1) Oix2) x x
£k ammonium hydroxide O O O Oix2) x x
STE isobutyl alcohol O OiE1) OF1) OiF2) O O
SR isopropyl alcohol O OiF1) OF1) OiF2) O O
g hydrochloric acid x O O O x x
R&E(F) ozone O O O O x O
TdELS WES%IMT 50CIKT | hydrogen peroxide x O O O x x
ZERZ TR ethyl acetate O Oi1) OiE1) OiF2) x x
ZETER butyl acetate O OiE1) OF1) OiF2) X x
THER (RIRFHERRRIN) 10T nitric acid x O O Oix2) x x
BB F ok (4hik) pure water O O O O X O
SEMMETERFT)  RES0BUT sodium hydroxide O O O O x x
as nitrogen gas O O O O O O
HBLK super pure water X O O O x x
Rx toluene O Oix1) Oix1) OiF2) x x
SHEE(GRER) hydrofluoric acid x O x OsF2) X x
WRER (& JERRERRRSM) sulfuric acid x O x OiF2) x x
BEER REBO%BIA T phosphoric acid x O x O x x
ERAM RS RAENESHRERRIEASE,
A1) TTRE RS, EEASMCELR, N
E2) RETIRESE, BENRESNEEMRETHME LR, RPFRCE X O A
CREE A EA
 RTRAEE00C p TR B, AR
CERAMRSRENESMRERRNASE, FREEAF RERMNRIE. -

- ERBUR R ARIEM RS B A AR R AL
- SMCX L AEHY IERA 1 Rl I BT8R 5| R A9 A RRIBTRAE,
IR RE BB 7E300cp U T .

ERASHERERN, THESEEXATR,

50

CAT.CS70-16D 2018-3





